
Charakterisierung des
Gleichgewichtspunktes (0,0) von

ẋ = a11x+ a12y

ẏ = a21x+ a22y
mit ∆ := det

(
aij

)
̸= 0,

λ1/2 = 1
2

(
a11 + a22 ±

√
(a11 + a22)

2 − 4∆

)

1. Fall: λ1/2 ∈ R, λ1 ̸= λ2, λ1λ2 > 0

a) λ1/2 < 0:

(0,0) stabiler Knotenpunkt

Beispiel: ẋ = y

ẏ = −2x− 3y

StreamPlot@8y, -2 x -3 y<, 8x, -3, 3<, 8y, -3, 3<D
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b) λ1/2 > 0:

(0,0) instabiler Knotenpunkt

Beispiel: ẋ = x

ẏ = 2y

StreamPlot@8x, 2 y<, 8x, -3, 3<, 8y, -3, 3<D
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2. Fall: λ1/2 ∈ R, λ1λ2 < 0

(0,0) instabiler Sattelpunkt

Beispiel: ẋ = y

ẏ = 4x

StreamPlot@8y, 4 x<, 8x, -3, 3<, 8y, -3, 3<D
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3. Fall: λ1 = λ2 = λ ∈ R

a) λ < 0:

(0,0) stabiler Knotenpunkt

Beispiel: ẋ = −2x

ẏ = x− 2y

StreamPlot@8-2 x, x -2 y<, 8x, -3, 3<, 8y, -3, 3<D
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b) λ > 0:

(0,0) instabiler Knotenpunkt

Beispiel: ẋ = x

ẏ = x+ y

StreamPlot@8x, x + y<, 8x, -3, 3<, 8y, -3, 3<D
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4. Fall: λ1/2 ∈ C, λ1 = λ2, Reλ1/2 ̸= 0

a) Reλ1/2 < 0:

(0,0) stabiler Strudelpunkt

Beispiel: ẋ = y

ẏ = −2x− y

StreamPlot@8y, -2 x - y<, 8x, -3, 3<, 8y, -3, 3<D
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b) Reλ1/2 > 0:

(0,0) instabiler Strudelpunkt

Beispiel: ẋ = x− y

ẏ = x+ y

StreamPlot@8x - y, x + y<, 8x, -3, 3<, 8y, -3, 3<D
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5. Fall: λ1/2 ∈ C, λ1 = λ2,

Reλ1/2 = 0

(0,0) Wirbelpunkt, Zentrum

Beispiel: ẋ = x+2y

ẏ = −2x− y

StreamPlot@8x +2 y, -2 x - y<, 8x, -3, 3<, 8y, -3, 3<D

-3 - 2 -1 0 1 2 3

-3

- 2

-1

0

1

2

3


